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Hi Keith, 

A summary table and PDF of the PowerPoint are attached.

Here are a few main points:

Baseline
· Lowest costs, but little development to make up for the costs of constructing the park.
· As a result, there is feasibility gap of 210,000.
Central Park
· The most costly scenario, and  has the large amount of partnership costs.
· Has the least amount of park area.
· Large feasibility gap of $1.1M. A key reason for this larger gap is the acquisition of the Capitol Center property and cost associated with demolition and clean-up of that property.
Green Connections
· Green connections preforms the best, and is actually slightly feasibility based on the initial assumptions.
· Has the most structured parking and a close to the largest amount of park area.
· Even though total costs are similar to Central Park, it financially performs better because of 75,000 additional square feet of development to generate revenue to offset costs. 
Pro Forma Spreadsheet
To use the pro forma spreadsheet the simple directions are to only change things in the orange boxes:
· Users can change the scenario by toggling the orange box on the Static Model tab.
· Assumptions can be changed in orange boxes (Column D) in the Assumptions tab. 
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